Name: _____________________________					      Math 620 B Block Date: ___________________			 	                Domain and Range - Classwork

Recap: How do you find the domain and range from a graph?

Domain:


Range:


Independent Practice
For problems 1-7 identify:
· Part a – Whether the relation is a function (yes) or is not a function (no)
· Part b – The domain of the relation, using set notation
· Part c – The range of the relation, using set notation.

Problem 1 has been done for you as an example:
[image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.01.43 PM.png]1. 
      a. Yes – this relation is a function (passes the vertical line test)

       b. Domain: { x | -2 ≤ x < 4}

      c. Range: { y | y = 3 }





2.
[image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.01.43 PM.png] a. _______________________________

 b. _______________________________
 
 c. ________________________________





[image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.01.43 PM.png]3. 
    a. _______________________________

   b. _______________________________
 
   c. _______________________________

 

[image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.01.43 PM.png]a. _______________________________

b. _______________________________
 
c. ________________________________







[image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.02.56 PM.png]5. 
           a. _______________________________

     b. _______________________________
 
     c. ________________________________






[bookmark: _GoBack][image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.02.56 PM.png]
6. 
           a. _______________________________

     b. _______________________________
 
     c. ________________________________
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a. _______________________________

b. _______________________________
 
c. ________________________________






Domain and Range Word Problems

8. Justin, Mr Quarterback, collected data on the average number of passing yards he made to each of his receivers in one football game. Determine the domain and range of the data and if it represents a functional relationship (i.e. is this relation a function?)

[image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.06.53 PM.png]
9. The heights and shoe sizes of several people are recorded in the table below. Determine the domain and range of the data and if it represents a functional relationship.

[image: Macintosh HD:Users:shannond:Desktop:Screen Shot 2015-04-02 at 2.06.53 PM.png]

10. The following is the Points per Game (PPG) for six of the Celtics. Determine the domain and range of the data and if it represents functional relationship. 

	Player
	Thomas
	Bradley
	Olynyk
	Crowder
	Johnson
	Horford

	PPG
	28.9
	16.3
	9.0
	13.9
	6.5
	14.0



Domain ____________________________________________________________________

Range __________________________________   Functional relationship? _______________
image1.png
a) a), 2,

) b) b

o o o
5.

a) a), 2,

) b) b

) ) 9





image2.png
9.
5. ,\
7.
a).
¥
b,
) c)
o)
a) ) 12.
b). A
) 11. i
10.
a)
o).
a) :
o)
a) :
o)
<)





image3.png
12. Justin, Mr. Quarterback, collected data on the average number of passing yards he made to
each of his receivers in one football game. Determine the domain and range of the data and if it
represents a functional relationship.

Receiver | Galindo Hanphlll‘ Harley ‘mlkx
5 12

Segovia | Jenkins
2

Yards 30 22 10
domain
range functional relationship?

13. The heights and shoe sizes of several people are recorded in the table below. Defermine.
the domain and range of the data and if it represents a functional relationship.

Height 510" 511" 59" 61 511 60"
‘Shoe Size 9 95 85 2 10 115
domain

range functional relationship?
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